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OltSEsAE A28 ¢ 12,300
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oF-ES= 2,177,669
SR 427,200
b < Xt 40,0002 *360% « 128 172,800
=& Y HMMWAE 20,0002 %305 « 122 73,200
=) PYE 60,0002 1552 128 111,600
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-Jls=d8sY Jtita 54,240
¥IIAH DI SE 30,000& +110H +x12& 39,600
I = A 50,0003 x3YH 128 1,800
¥ AHA I AL 20,0003 x50 «128 12,000
®2d 63,73 10,0002 x5H 123 600
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ozgRag(2ad, 2dzlsd)
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g (BHIZH)
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YR (9F)
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AR 80,0003 »4H 128 3,840
QRS 50,000 x56Y x128 33,600
HMHRH 1,200
34 0] & 50,000 x2H 128 1,200
SHIZRE 70,0003 =170 128 142,800
Zelxg 45,000
¥HEIISH & 250,000& x15H x12& 45,000
HazRsg 8,000& x50 x12& 4,800
OlSIAIRI 7= 9,600
pgor= 80,000& x3H 123 2,880
6= 60,000 x6H 128 4,320
¥*7= 0lat 50,0003 *»4H 128 2,400
-SSR (MIEXYR)
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KB EIAZ (ALSI S XA
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SR 100,000 29« 12& 34,800
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22,2503 x29H »30Al 2t 12&
178,050 2998 32 x 122
7,420 2 +70Al 2t 123

118,700& 29 15

2,728,180 122« 12&
635,030 x2H 12
87,0803 x9H x 12
392,857,920 »1/12& «120%

40,000 x12H «12&
20,000 «12H « 128 x200%
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NREXH 200,000& = 13H «12& 31,200
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